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Question Number : 1 Question Id : 40503610556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If speed V, area A and force F are chosen
as fundamental units, then the dimension

of Young's modulus will be :

Options :
IAN=2
4050363848]1. FAZY
IAZYF—3
40503638482. FA®V
FA lv{]
40503638483, " °

I A2 1
40503638484, TATV

Question Number : 1 Question Id : 40503610556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Ifg Ifq V, &%e A 3R o F =1 90 32
+ T foran 9@ 9 90 & i w1 faE

2

Options :

40503638481 FATV™=

40503638482, 1AV
o Iy 70

40503638483, FA TV

A2 1
40503638484, TAV

Question Number : 2 Question Id : 40503610557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Train A and train B are running on parallel

tracks in the opposite directions with

speeds of 36 km/hour and 72 km/hour,

respectively. A person is walking in train

A in the direction opposite to its motion

with a speed of 1.8 km/hour. Speed

(in ms ™~ ) of this person as observed from

train B will be close to : (take the distance

between the tracks as negligible)

Options :

40503638485, 20>
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|
40503638486, =5 ™S

|
40503638487, 10 ™S

|
40503638488, 20+ MS

Question Number : 2 Question Id : 40503610557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TerEAT A 3R B R vefE 1 e fems
H FHI: 36 km/hour #HR 72 km/hour fd
e @ E | e A ¥ U A et
aaqmﬁ!mamﬁ:rmﬁwmamﬂmr
=1 T § 9 W@ | ATS 59 AT H
Bqa@mmmwﬁrﬁmﬂfﬁm&?ﬁmﬁ
Rl ¢ (9efEl & =9 i g & 70 A )

Options :

|
40503638485, V-0 ™S

|
40503638486, 20 ™S

|
40503638487, 10 ™S

|
40503638488, 20-0 MS
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Question Number : 3 Question Id : 40503610558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A particle of mass m with an initial velocity

u! collides pc-rfc-ctl}-' elasticall}-' with a

mass 3m at rest. It moves with a velu:}cit}-'

U] after collision, then, v is given by :

Options :

i u
[E ﬁ
40503638489.

40503638490.

u
40503638491. V2

.
40503638492. V6

Question Number : 3 Question Id : 40503610558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A m F T T T smfes 9 g
T 3m Z=HME ¥ UF FU 4, 9 fF farmEen
T 2, TSR] 29 FA1 2 | Ife 25F & 918

m BT 916 F9 0] 3 Y 96 @, q

o <hl HIH % .
Options :
T
40503638489. V3
|E
v=.,—u
|
40503638490. V3
u
V= —
40503638491, V2
1
U= —= u
40503638492. V6

Question Number : 4 Question Id : 40503610559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

.
Qcollegedumas
India’s largest Student Review Platform

-~



A bead of mass m stays at pointP(a,b) on a
wire bent in the shape of a parabola
y=4Cx? and rotating with angular
speed w (see figure). The value of w is

(neglect friction) :

F Y :I'.fl

L
®

\
b

Options :

40503638493.

40503638494. \

40503638495, | ab

40503638496, ¥

Question Number : 4 Question Id : 40503610559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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HIE 47 o H A T UF a1, Fomahi sfq
y= ACK2 WETd (parabola) S g (Fasd),
T m FFAM H TF Afe @5 P(a, b) W
fER 21 o FHEA T (S0 H 0T HH)

Options :

40503638493.

40503638494. \

|23C
40503638495, V! ab

'2\4@
40503638496,

Question Number : 5 Question Id : 40503610560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A uniform cylinder of mass M and radius
R is to be pulled over a step of height
a (a < R) by applying a force F at its
centre ‘O" perpendicular to the plane
through the axes of the cylinder on the edge
of the step (see figure). The minimum value

of F required is :

«F

i’

/ ) _.-';H\\
/ O \

I I,'l
[ -
-

NG

Options :

%

Mg =
40503638497. R

g
“ﬂﬂ'Jl (lz )
40503638498. R

RE
40503638499.

40503638500.
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

=M M a9 f53=41 R & U= 9 (cylinder)

%1 a (a< R) 915 H TH Wl & FH @ia

€1 0% fodl 5% F=% 0 M UE Fa F, 31

o 9o % @19 3R Hiet F foFe & S 9

Il THAE & T 8, o o g 1 (=

TH) FRTAMEAAE :

+F
7 i f“\
|" Ou’ |
R _/ Ia
TR
Options :
Mg =
40503638497. R

| 2
['\.1.3.\}1 (RRJW
7

| 2

40503638498.

Mg \( 5
40503638499. R

Mg \/{
40503638500. %=
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Question Number : 6 Question Id : 40503610561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The mass density of a spherical galaxy
. _
varies as T over a large distance ‘r’ from
its centre. Inthat region,a small starisin a
circular orbit of radius R. Then the period
of revolution, T depends on R as:
Options :
40503638501, 1 <R

40503638502, 1 *R

40503638503, 1 *R
T? = A
RFE

40503638504

Question Number : 6 Question Id : 40503610561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
_@ b ?' = oy _Ei = - b ﬁ q.ﬂ’

v T SHH T W — e 51 fem

AT TH 99§ UF B a0 R e i vE
IR FHE H IH @S| T SHH AT
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Options :
40503638501, 1 =R

40503638502, | *R

40503638503, 1 =R
T2 = A
R3

40503638504

Question Number : 7 Question Id : 40503610562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

LSS LIS

0 25 50 75 |100
A B

Shown in the figure is rigid and uniform
one meter long rod AB held in horizontal
position by two strings tied to its ends and
attached to the ceiling. The rod is of mass
‘m’ and has another weight of mass 2 m
hung at a distance of 75 cm from A. The
tension in the string at A is :
Options :

2
40503638505, = M8
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40503638506, 0-2 Mg

40503638507, 070 Mg

1 mg,
40503638508.

Question Number : 7 Question Id : 40503610562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HEAS W

0 25 50 75 100

A B

o=t § U& Hiet @ U 5 UHEAH B€ AB
Tt Tt & S 59 B W = 2 S g/
=d F M T E AR afaw e H 1 B2
Wm’m’%-ﬁ'{mﬁﬁﬁﬁﬁcmaﬁ
T 2 m FAHM H U YR AR T gl A
T =4 SR T oFE 26 ;

Options :

2
40503638505, = ™M&

40503638506, 0-2 Mg

40503638507, 070 Mg

1 ias
40503638508, & @collegeduma
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Question Number : 8 Question Id : 40503610563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A cylindrical vessel containing a liquid is
rotated aboutits axis so that the liquid rises
at its sides as shown in the figure. The
radius of vessel is 5 cm and the angular
speed of rotation is w rad s~ !. The
difference in the height, h (in cm) of liquid
at the centre of vessel and at the side will

be :

<10 cm-»
Options :
2 w2
40503638509 2> 8
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i 9
25 w”

>
40503638510. <&

5 -'_u?'
2g
40503638511.

~

2w

40503638512. 98

Question Number : 8 Question Id : 40503610563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Ueh R =9, 995 U 29 T gen g, :
T 3181 T A9y A T E9 596 [FAR W
T FI R =% 9@ § (a7 2@) | =51 #i
541 5 cm 2 AR S9H1 19 9T w rad s~
T | I % FE T 5 FI ST I 5HF THAN
T2 H FEE H 3%, h (cm §) 210

Options :
2 mz
40503638500, 28
25 @2

40503638510, 28

40503638511, 28
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Zmz

40503638512. 2 &

Question Number : 9 Question Id : 40503610564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A gas mixture consists of 3 moles of oxygen
and 5 moles of argon at temperature T.
Assuming the gases to be ideal and the
oxy gen bond to be rigid, the total internal
energy (in units of RT) of the mixture is:
Options :

11
40503638513.

40503638514, 13

40503638515, 12

40503638516. 20

Question Number : 9 Question Id : 40503610564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U T & fag § 3 W sAidieE $ 5 1

#AMA <E T 999E W E | 8 9 g fF S
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Options :

40503638513. =

40503638514, 19

40503638515, 12

40503638516. 2

Question Number : 10 Question Id : 40503610565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Two identical strings X and Z made of same
material have tension T, and T, in them.
If their fundamental frequencies are 450 Hz
and 300 Hz, respectively, then the ratio
Ty /T is:
Options :

40503638517. L5

40503638518.

40503638519, 1-22

40503638520. 0.44
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

<l gHEy AT (X 31 Z) UF & g 9 5 @

T WTE T, AT, ¥ Alg A= 7

Argfa FE: 450 Hz 31 300 Hz &,

Ty/T, &1 HH 81 :
Options :

40503638517. 1.5

40503638518, 222

40503638519, 1-22

40503638520. 0.44

Question Number : 11 Question Id : 40503610566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A charged particle (mass m and charge q)
moves along X axis with velocity V;. When
it passes through the origin it enters a
region having uniform electric field
:

E = ~-Ej which extends upto x=d.
Equation of path of electron in the region
x>dis:

Yy —>
JVE
O 1:; =X
Vo, |
Options :
~_ qEd
m"u—-‘t,z
40503638521.
qEd
¥y = :
m“vﬂ
40503638522.
aEd
= . 0] ( d]
40503638523, mVp
qEd ( d W
A mV?2 xE x}
40503638524. 0
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Question Number : 11 Question Id : 40503610566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

T AETA FO(FFIH m S A& q) X
|G WV, M H =9 @ 21 g fag T o
SH W =0 9 x=d T I% THIAA faza

9 E = Ej §9aa1 2l x=d % =12 faega

&9 T #1 (x> d F FoI) s ¥ ug

THTHTO BRI
YJ"& —
JE
@) 1~‘:; =94
5
Options :
L]EL{
= 5 ¥
m ‘I.-"{],
40503638521.
. L]EL'[z
’ 111\-"{‘?‘
40503638522.
Ed
y — L] LZ L-n
40503638523. m¥g
qEd d )
; 111&-"2 L2 x}|
40503638524, o -
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Question Number : 12 Question Id : 40503610567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Consider four conducting materials copper,
tungsten, mercury and aluminium with
resistivity p., py ., pyy and p, respectively.
Then :
Options :
s0503638525. "¢ PATPT

Y i = Do = [
40503638526, "2~ P17 PC

Y = Dag = D
40503638527, "7 M7 PO

Yo x = Da = D
40503638528, "M~ PATPC

Question Number : 12 Question Id : 40503610567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=R e YEii qidl, A, 9N | UEEeEE
& Y Gratadl HE: P Pr s Py AR Pa
AR

Options :

p . F) - By
40503638525, = !

p b= - =
40503638526, A~ P17 PC Qcollegeduma@
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Ya =0 > e
40503638527, ' 7 PMT PO

Yo x = s = D
40503638528, ™M~ Pa”PC

Question Number : 13 Question Id : 40503610568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A beam of protons with speed 4 x 10° ms !
enters a uniform magnetic field of 0.3 T at
an angle of 60° to the magnetic field. The
pitch of the resulting helical path of
protons is close to : (Mass of the
proton=1.67 x10 %" kg, charge of the
proton =1.69x10" 1 C)

Options :

cm

2

40503638529.

40503638530, ° M

40503638531, 4 €m

.l
40503638532, 1 €m

Question Number : 13 Question Id : 40503610568 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1 Qcollegedunim
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4x10° ms~ ! 7§ FeH 9 GeH w1 UH
I 0.3 T 9F & THTHH TH4E&E 99 § 599
FAA & | TN 2 GG S TEHE 8
fam ¥ 60° = FA0 TN E1 THF Urom
=& 991 9 W2 & Fgad (helical) 99
1 Ta= =TT B0

(91219 +1 S=¥9F =1.67 x 10~ kg
e[ #1 3AET =1.69x 1019 Q)
Options :

40503638529, 2 €M

40503638530, ° M

40503638531, +cm

40503638532, 12 €m

Question Number : 14 Question Id : 40503610569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Magnetic materials used for making
permanent magnets () and magnets in a
transformer (T) have different properties
of the following, which property best
matches for the type of magnet required ?

Options :

P : Large retentivity, laree coercivity
40503638533, & g y .
% collegedunias
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40503638534 P : Small retentivity, large coercivity

T: Large retentivity, large coercivity
40503638535. g E

40503638536. T : Large retentivity, small coercivity

Question Number : 14 Question Id : 40503610569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IR <o (P) SR ZRIEER § T S A
% (T) & o8 A1 G919 9=t &1
Wi T s ¥1 Freafafaa § 9 57 e

F FEA-T O I TAM H T A= T
feam &2

Options :

40503638533, T ¢ FTH STRORIeT, e Ffes

40503638534, 3 0 SIRURIICTRN, Ao T-ite

. =afe fgmﬁm" ﬁ'ﬂﬁ%?ﬂ
40503638535. T : s s Silhid

. 2afe fgmgnﬁm“ ﬁr;rri%m
40503638536. T: &t Ty o

Question Number : 15 Question Id : 40503610570 Question Type : MCQ Option Shuffling : Yes Display Question Nmmher - Vec T¢
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 Qcollegeduniaﬁ
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A plane electromagnetic wave, has
frequency of 2.0x 101 Hz and its energy
density is 1.02> 10~ 3] /m” in vacuum. The

amplitude of the magnetic field of the wave

2

1 g Nm

is close to (7 — =9 x10 =2
e

and

speed of light =3 x10°ms~ 1)
Options :

40503638537, 00T

40503638538, 180T

40503638539, 120nT

40503638540, 120 0T

Question Number : 15 Question Id : 40503610570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

UF gHa faga-gEsE ai & Agi
2.0x 1010 Hz & 9o s9 fama | 3= w9
1.02x10-8J/m? | THY Hefud F==F4
&3 F1 A = § 9 fFgs e g

[‘\\Jm2

=9 x 10° 5—, Wt i fraia A
{: ]

(—l-'TTE{]
TMd =3x10%8ms 1) :

.
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Options :
160 nT
40503638537.

40503638538, 180T

40503638539, 120nT

40503638540, 120NT

Question Number : 16 Question Id : 40503610571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A spherical mirror is obtained as shown in
the figure from a hollow glass sphere. If
an object is positioned in front of the mirror,
what will be the nature and magnification
of the image of the object ? (Figure drawn
as schematic and not to scale)

Options :

.
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40503638541 Inverted, real and unmagnified

40503638542, Lrect, virtual and magnified

40503638543, verted, real and magnified

Erect, virtual and unmagnified
40503638544.

Question Number : 16 Question Id : 40503610571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

S Tt o femman a1 2, v g@ige #e T
el ¥ FEF TF ety du s < 2 |
Ife U =g 1 TeITEr =40 % =10 @ §E
T THE Wfdfaa F =Eg 9 AEda = E g
11 T g ? (9 wiskfas )

Options :
40503638541, S0, TR TS FAElH
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40503638542, 1, STHET T =<1

40503638543, 72, AT TH TS

40503638544, o, SATHIHEIT TS SAIEIEA

Question Number : 17 Question Id : 40503610572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Interference fringes are observed on a
screen by illuminating two thin slits 1 mm
apart with alight source (A=632.8 nm). The
distance between the screen and the slits is
100 cm. If a bright fringe is observed on a
screen at a distance of 1.27 mm from the
central bright fringe, then the path
difference between the waves, which are
reaching this point from the slits is close
to:

Options :

40503638545, 1-27 pm

40503638546, 287 nm

40503638547, 2 Nm

2.05 pm "
40503638548. b g collegedunia:
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Question Number : 17 Question Id : 40503610572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ﬁﬁﬁﬁ%ﬁﬁﬁ@lmm%-ﬁ?ﬁﬁ
A= 632.8 nm TG 1 WHTY ST U T4
R SHFT AfGw R <@l Wt g fafeE
ﬁ(q&ﬁ?ﬁﬁﬁqﬁ 100 cm 1 AfE 98 W
w2 o e g 1.2?111111@‘41@3?‘?[
foFeat femmdt <t 2, o1 59 fiee W fafdi @
EeH At @ w1 g™ e H F s
e €7
Options :

'j.H
40503638545, 14/ pm

40503638546, 87 nm

.
40503638547, <0

i
40503638548, =02 pm

Question Number : 18 Question Id : 40503610573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In areactor, 2 kg of (,U%*” fuel is fully used
up in 30 days. The energy released per
fission is 200 MeV. Given that the
Avogadro number, N =6.023 x10% per
kilo mole and 1 eV=1.6x10"1"J. The

power output of the reactor is close to :

Options :
I
40503638549. 60 MW

40503638550, 122 MW

40503638551, 2+ MW

40503638552, 02 MW

Question Number : 18 Question Id : 40503610573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
s fuge 4, ,UB5 & 2 kg 999 %1 g0 &9
¥ 30 fea § wam fan <an &1 wfq fagvea
e areft 511 200 MeV B1 femn € warmen
T N =6.023 %102 gfd el dia 3
1eV=16x10"1] o 4 fAFea e
wifer SIS BRI |

Options :

T
40503638549, 00 MW _
% collegedunias
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40503638550, 122 MW

40503638551, 2+ MW

40503638552, 02 MW

Question Number : 19 Question Id : 40503610574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An amplitude modulated wave is

represented by the expression

U, =5(1+0.6 cos 6280t) sin (211 X 104 t)
volts

The minimum and maximum amplitudes
of the amplitude modulated wave are,
respectively :

Options :

40503638553.

40503638554.

40503638555.

40503638556. _
% collegedunias

~



Question Number : 19 Question Id : 40503610574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Tk HTEH Ffﬁﬁ%f&' (amplitude modulated)
T H 9 TR A9 o 9 2

0 =2(1+0.6 cos 6280t) sin(211 x 101 t)
volts T8 TN & AqH IR sAfumaq i

=1 OE FHI: B ¢

Options :

40503638553.

40503638554.

40503638555.

40503638556.

rdlm'

V.8V

IV, 2N

k| wa

2V, 8V

V,5V

Question Number : 20 Question Id : 40503610575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

,
Qcollegeduma@
India’s largest Student Review Platform

-~



The least count of the main scale of a vernier
callipers is 1 mm. Its vernier scale is
divided into 10 divisions and coincide with
9 divisions of the main scale. When jaws
are touching each other, the 7t division of
vernier scale coincides with a division of
main scale and the zero of vernier scale is
lying right side of the zero of main scale.
When this vernier is used to measure length
of a cylinder the zero of the vernier scale
between 3.1 cm and 3.2 cm and 4" VSD
coincides with a main scale division. The
length of the cylinder is : (V5D is vernier

scale division)

Options :

40503638557, >-2Cm

40503638558, --U7 cm

40503638559, 21 cm

40503638560, =29 cm

Question Number : 20 Question Id : 40503610575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
gcollegeduniag



UF AR FeATd F 9= 9 (TFRA) #
HeqaHIF 1 mm ¥ | 39 I T9H (Fhe)
T 10 faurem € < % g@ o F o faarsHi
g fgad €1 <\ afHm Foed F s9e '
TE G W el ar4aL 9 1 graal faursH
% T F fodt s faareq 4 e § 2R
IR T =1 = 9= TE & = g g1
ST AR BT | 379 ATE T e il IR F
SEEl & d= Al S g, o aHa I
3.1cm AR 32cm F a4 H § a0 I F:
e fauTs 9=1 T F T faursE 9 e
HEE G RGE E

Options :

40503638557, -2 Cm

40503638558, -7 cm

40503638559, >-21 cm

40503638560, =29 cm

Sub-Section Number : 2
Sub-Section Id : 405036732
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 40503610576 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

.
gcollegedumag
India’s largest Student Review Platform

~



A =710

A small block starts slipping down from a
point B on an inclined plane AB, which is
making an angle 0 with the horizontal
section BC is smooth and the remaining
section CA is rough with a coefficient of
friction . It is found that the block comes
to rest as it reaches the bottom (point A) of
the inclined plane. If BC=2AC, the
coefficient of friction is given by =k tan®.
The value of k is
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An engine takes in 5 moles of air at 20°C
and 1 atm, and compresses it adiabaticaly
to 1/10% of the original volume. Assuming
air to be a diatomic ideal gas made up of
rigid molecules, the change in its internal
energy during this process comes out to be

X kJ. The value of X to the nearest integer
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A 5 pF capacitor is charged fully by a
220 V supply. Itis then disconnected from
the supply and is connected in series to
another uncharged 2.5 pF capacitor. If
the energy change during the charge

X
redistribution is ﬁ ] then value of X to

the nearest integer is
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A circular coil of radius 10 cm is placed in
a uniform magnetic field of 3.0x107°> T
with its plane perpendicular to the field
initially. It is rotated at constant angular
speed about an axis along the diameter of
coil and perpendicular to magnetic field so
that it undergoes half of rotation in 0.2s.
The maximum value of EMF induced
(in pV) in the coil will be close to the integer
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When radiation of wavelength A is used to
illuminate a metallic surface, the stopping
potential is V. When the same surface is

illuminated with radiation of wavelength

3A, the stopping potential is I If the

threshold wavelength for the metallic

surface is nk then value of n will be
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